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BACHELOR OF SCIENCE (GENERAL)  

(BSCG)  

Term-End Examination 

December, 2023 

BZYCT–137 : GENETICS AND  

EVOLUTIONARY BIOLOGY 

Time : 2 Hours     Maximum Marks : 50 

Note : Question No. 1 is compulsory. Attempt any four 

questions from Question No. 2 to Q. 7. 

1. (I) Define the following terms : 1×5=5 

(i) Gene family 

(ii) Heterozygous  

(iii) Trace fossils 

(iv) Aneuploidy  

(v) Speciation 
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(II) Match the following : 1×5=5 

Column A Column B 

(a) Jacob and 

Monod 

(i) Multiple distinct 

phenotypes that 

arise from a 

given genotype  

(b) Complete 

dominance 

(ii) reverse 

transcriptase of 

RNA tumor virus  

(c) Telocentric (iii) One allele 

completely 

masks the 

expression of the 

other allele  

(d) Baltimore (iv) Centromere  is at 

the end of 

chromosome 

(e) Polythenism (v) Operon model 

2. Differentiate between the following pairs : 

2
1

2
×4=10 

(i) Terminal deficiency and interstitial 

deficiency.   

(ii) Anaerobic chemoautotrophs and Aerobic 

photoautotrophs. 



 [ 3 ] BZYCT–137 

  P. T. O. 

(iii) Pre-mating isolating mechanism and post-

mating isolating mechanism.  

(iv) Complete dominance and Incomplete 

dominance.     

3. Explain why sterility is common in polyploid 

organisms.   10 

4. Explain the mechanism of sexual selection. 

Support your answer with suitable example.  10 

5. Describe the Haeckel’s Law with the help of 

suitable examples. What is the major criticism 

of the law ?  10 

6. Discuss the role of human beings in sixth 

extinction.   10 

7. Write short notes on the following : 2×5=10 

(a) ABO Blood Type Alleles in humans 

(b) Patau Syndrome   
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1×5=5 

(i) 

(ii) 

(iii) 

(iv) 

(v) 
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II 1×5=5

(a) (i) 

(b) (ii) 

ª

(c) (iii) 

(d) (iv) ª

(e) (v) 
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2.5×4=10 

(i) 

(ii) 

 

(iii) 

(iv)  
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2×5=10

ABO 

ª
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